Human-Computer Interaction

The Tragedy of the Commons by Garrett Hardin in Science, 1968
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Social Dilemma

« {@ AN, Cooperate, Defect (Non-cooperate)
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Social Dilemma Game

* One Shot Game
* |terative Game

B: cooperate B: defect
A: cooperate A: 120 Yen/B: 120 Yen A: 0 Yen/B: 180 Yen
A: defect A: 180 Yen/B: 0 Yen A: 60 Yen/B:60 Yen
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* Iterative Dilemma Game
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TFT (Tit for Tat)
s MFOFEZOFEFRT,

— ¥8F hCooperate = Cooperate
— f8F H'Defect -> Defect
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* Axelrod, 1980a
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¢ Axelrod, 1980b
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Human Computer Interaction
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Research Question
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* Bottom-upfLIE

— Evidence based

- XEOHEFOITH
* Top-down#LIE

— Schema based

- 70T (ER), ATLARA4T (AE)
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He believes he is
collaborating with a human Bottom-up
or an agent.

Actual Partner
“ Agent
= .

He is actually collaborating
with a human or an agent.
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* Perceived
- AN@E¥, avEa—4T—ox b
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* Actual
— A, C-agent(1EIZEL]Y), D-agent(5EIZELIY)

Result

Rate of defect actions
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* Actual
— C-agent(1[E]1ZE]Y)), D-agent(5[EZEL]Y))
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Result

ved Partner

ate of defect actions

R:

C-Agent D-Agent

Actual partner
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* Perceived

— AR (anonymous), AvEai—42IT—ox b
* Actual

— C-agent(1EIZEY]Y)), D-agent (SEIZELIY))

D-Agent

Actual partner

13.5.28



13.5.28

TFTOE|E

Research Question

« AEIE, aVEa—42T -2 UMIRLTE,
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cf. Media Equation

* The answer is,
No !




